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Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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components of steering power system of a tractor.

Write in brief the function of power transmission 

system of a wheeled tractor with different 

components.

of tractor with advantages and disadvantages.

8.

8

OR

OR

Old Syllabus
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1. Choose the most suitable answer from the following

options :1 x 20 = 20

(ii)

(i)

(i)        

P.T.O

Standard P.T.O. speed recommended by ASAE

is..................

(a) 500+10 rpm

(b) 600+10 rpm

(c) 540+10 rpm

(d) 640+10 rpm

Differential is ............gear train.

(a) Simple

(b) Compound

(c) Epicyclic

(d) Revereted

OT6004OT6004

Write in brief the criteria on which tractor are 
purchased.

OR

Answer all Five Questions. 
8 x 5  = 40

Define tractor and write in brief about classification
of tractors.

7.
8
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(iii)

(iii)

(iv)

(ii)

Valve clearance is adjusted when ........

(a) Inlet valve is only in open position

(b) Both valve open position

(c) Close position

(d) Exhaust valve is only in open position

Power developed by two stroke engine is

......to that of four-stroke engine of same size.

(a)  Same

(b)  Half

(c)  Double

(d)  Four times

OT6004 OT6004

Write in brief, the power flow diagram of a six 

cylinder four stroke engine.

ploughing.

wheel.

OR

5.

4

4

                                   OR

6.
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(v)

(v)

(vi)

(iv)

Renewable energy includes............

(a) Bio gas

(b) Solar energy

(c) Wind energy

(d) All of the above

Tractor on steep slope riding should be......

(a) From rear side

(b) From front side

(c) From any side

(d) None of these

4.

OT6004OT6004

OR

OR

Define cut-off ratio of an IC engine.

Write the parameter that affect traction in a tractor.

after 250 hours and 1000 hours of working of a 

tractor. Write in brief.

performance of a tractor.

4                     

4                     

3.
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Tractor has rear wheel in bigger diameter for.
............
(a) Looking good
(b) Improving tractor
(c) Both (a) and (b)
(d) None of these

The most popular tractor is found in 
which power range............
(a) 15-20HP
(b)  21-30HP
(c)  31-40HP
(d)  41-50HP 

(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4

4 x 5 = 20

Write in brief the uses of clutch in  a tractor.

(xx)

OT6004 OT6004



61111603 11603

P.T.O

Torque converter does not consists of ...........

(a) Dog clutch

(b) Stator

(c) Turbine

(d) Impeller

Final drive is a unit used for..........

(a) Power transfer

(b) Breaking

(c) Lifting the implement

(d) Lubricating 

Solar cells are usually made of...........

(a) Silicon

(b) Copper

(c)  Tin

(d) None of these

The minimum speed required for a wind mill 

is..........

(a) 35km/hr

(b) 20km/hr

(c) 10km/hr

(d) 05km/hr

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)
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The oil pressure in the hydraulic varies from.

.............
2(a) 100 to 150kg/cm
2(b) 150 to 200kg/cm
2(c) 200 to 250kg/cm
2(d) 250 to 300kg/cm

Grear box is fitted in the tractor to increase:

(a) Deriving torque

(b) Momemtum

(c)  Force

(d) All of the above

The speed requirement for different 
agricultural operations varies from.
(a) 0.5 km/hr to 25 km/hr
(b) 26 km/hr to 40km/hr
(c) 41 km/hr to 60 km/hr
(d) 61 km/hr to 80 km/hr

For measuring the turning circle the speed of
the tractor must not be greater than..........
(a) 1km/hour
(b) 2km/hour
(c) 3km/hour
(d) 4km/hour

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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Thermal efficiency of a petrol engine is.........

(a) 10 to 14%

(b) 14 to 20%

(c) 20 to 25%

(d) 25 to 32%

The hitch height of a three point hitch draw

bar is used for attaching the load should be:

(a) 525 to 625 mm

(b) 425 to 525mm

(c) 325 to 425mm

(d) 225 to 325mm

The efficiency of a commercial solar cell 

varies from......

(a) 05 -10%

(b) 10 -20%

(c) 20-30%

(d) None of these

Clutch is fitted between...........

(a) Engine and gear box

(b) Front axle and rear axle

(c) Both (a) and (b)

(d) None of the above

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT6004OT6004
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Explain the working of hydraulic control system

with the help of a diagram.

traction of a tractor.

the help of a neat sketch.

9.

10.

OR

8

8
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Explain the working of hydraulic control system

with the help of a diagram.

traction of a tractor.

the help of a neat sketch.

9.

10.

OR

8

8



Write in brief the solar light system with the help of

a neat sketch.

***

OR

OR

11.

8
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Write in brief the solar light system with the help of

a neat sketch.

***

OR

OR

11.

8
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